RIS | B (5 5 4B
T 2 N AT AT BB G O (R A)

“fh 2 % ([CH20H

+

,.\
ey

=

o
B
b
=t
s

R E B LR GBI g
MaeE & #E Kk H

IDZEIZoWT, BB OBEBNEHCRD @ ERICHEL, HRTELS
BB &0t EZT T v o T, BEETHETETSMB &M ERE 5
FOMEICLY, BRFREZHRATHBVWIZLET,

1 BhEsicETARE
Mﬁ%m_

2 W& TR
43, 382

3 BAfREHE BAED EBY



BUFLEE 2 Bakal (B8 5 4B1R)

2

TS ST AT B B & E AR

=
=
EITEH B & OFEEL IR
1 s
X g R O# BN B
3 A 7,315 [ 7,315 [
4 B4 10, 568 [ 10, 568 H
5 H 45 11,422 [ 11,422 1
6 A4 . 5,096 [ 5,006 [
7 H 5 9,163 [ 9,163 M
8 A4 10,664 M 10, 664 [
| & E 54, 228 M 54, 228 [
il Bh @ 28 i FR 55 4H
54,228 1 X 0. 8 = 43 382 H
( HiBhx 858 X il B E = MBheE )

(P33 61 9 #C)




lou

Bl
No. 3
3. 3 81 _}
BIFEHE 1 SR (58 5 4BEMR) |
FF 2 EEWHRTEIT R H a2 HEE (YD)

“F HE OH A
(i fe) HEEHRE

s B LR GBITHE) #HLEe
e E 4 1 Kk M

IO EEDWTEET OBITBNIG D MBI B LE B AT &R
Bl & o0 224 % B vt 7o o O B AE TR AT S ST R AT Bh B & AT 1 AR AT 5 Sk DR
CEVBEREBERERATHBE N LET,

1 HEEECET IR
72,409 [

2 B &zt
57,927

3 BEREE BIAED LB D



MIFLE 2 SR (58 5 B{R)

BT BT BB ST E N RE

BT R B & O FRF PR

1 B SRR

XK & ok # i B o 8
9 A% 10,193 M 10,193 [
10A% 10,217 M 10,217 M
L1A% 13,673 M 13,673 [
128% 11,808 [ 11,808
1A% 14, 750 [ 14, 750 M
2 A5 11,768 M 11, 768 M
& 72, 409 [ 72, 409 T4
2 HHBhE AT EE

72,409 H X 0. 8 =_57,927T H
(1B %S4 X f B E = W& )

([ 2R 8 0 5 T)




